MECCALTE spa - Viia Roma, 20 - 36051 CREAZZO (V1) ITALY 3-PH. 2 POLE

Tel. +39 0444/396111 - Fax +39 0444/396166 - e-mail: info@meccalte.it

BRUSH + AVR website: www.meccalte.com |P23
CHARACTERISTICS

POWER 230/400V
AT 3000 RPM - 50 Hz

CL. H (AT=125°C) CL. F (AT=105°C) STAND BY (AT=163°C) CL. H (AT=125°C)
AMBIENT
Ty pe MOTOR TEMPE?OACTURE DEE-II-'KGCLOE;‘PNHEACSTEION
STARTING
KW CAPABILITY KW s¥f§ﬁﬁe
VA | cos gos |

ET20FS-130 9 7,2 15 78,6 82,6 81,9 8,2 6,6 9,7 7,8 6 12 <5
ET20FS-160 11,5 9,2 19 789 828 824 105 8,4 12,5 10 7,6 15 <5
ET20F-200 13,5 10,8 21 79,4 835 829 122 9,8 14,2 11,4 9 18 <5

POWER 277/480V
AT 3600 RPM - 60 Hz

. AMBIENT SINGLE-PHASE
STARTING MOTOR
@AY KW KW kVA STARTING
cos ¢ 0 8 kVA KVA | cosg08 c0S908 |cosq1 | cARELTY

ET20FS-130 1 18 79,8 839 836 10 11,6 7,2 14,5 <5
ET20FS-160 14 11,2 22,5 79,8 84,5 839 125 10 15 12 9,1 18 < 5
ET20F-200 16,5 13,2 25 80,5 84,6 841 145 11,6 17 13,6 10,8 21,5

. N B(A
Type

TN o

ET20FS-130 10,0241 0,0231 452 44,2 482 4,7 5,7 81 63
ET20FS-160 0,0288 0,0277 52,2 51,2 552 4,7 5,7 81 63 83 65
ET20F-200 0,0335 0,0323 60 59 63 4,7 5,7 81 63 83 65

TYPICAL ELECTRICAL DATA

ET20FS-130 | ET20FS-160 | ET20F-200

9 11,5 13,5
353 334 270
39,2 37,4 31,9
22,4 21,2 18,6
109,3 100,9 88
109,3 100,9 88
44,3 42,6 39
24 22,4 18
Zero sequence reactance 8,8 8,4 6,9
Transient time constant | 54 51 43
Subtransient time constant K 11 10 9
Armature time constant 6 7,5 9
Open circuit time constant | 0,65 0,58 0,5
Short - circuit ratio 0,58 0,51 0,56
Stator winding resistance (0] 0,712 0,569 0,425

ELECTRONIC REGULATOR [ PARALLEL THERMAL PROTECTION MECHANICAL PROTECTION
HEATERS
| AsR | DEVICE BIMETDEVICE.|  PT100 1P21 IP23 IP45
® | O O O ® O
@ = Standard [] = Optional

Member of CISQ Federoﬂon

RINA &
1SO 9001:2008 W U s
Certified Quality System

INSULATION SYSTEM




OVERALL SIZE, STANDARD TYPE

dimensions in mm.

FORM B9/25.4

—

f—_30°

o ‘/;_ > o 2(3%?
W~ )
2 g | Il o ,:._ i) TR A
L D
N -_@J_‘_Q'é
I e :3
jing jing
180
e
e
TYPE A B c D |CeG.
[mm] | [mm] | [mm] | [mm] | [mm]
FS - 130 206.8
285.5 | 295.5 | 385.6 | 275.0
FS - 1460 195.3
F - 200 215.5
325.5 | 335.5 | 425.6 | 315.0
(*)| F-230 227.6
FLANGE
E [mm] F [mm] G [mm]
1446.0 165.00 192.0
163.6
1777 1946.85 2160
FORM B9/C30
4 D
14 D y\\/:.’)é,
ol N é )L/
NN
; 3
o~
= 4 NS00,
4 D )
4, N
A B C D |CoG.
TYPE
[mm] | [mm] | [mm] | [mm] | [mm]
FS-130 205.4
285.5 | 295.5 | 385.6  275.0
FS-160 194.5
F-200 214.5
325.5 | 3356.5 | 425.6 315.0
(*)| F-230 226.5

84 C.og
|
| 109
r[ ¥ I @
T P
Yints
2 ﬁ I M P (] ﬁj
- {) - = [ o]
o |14 (3) i Nk
gl |13 S| et S
= % 22 \l ,'r_ '_r/‘_ - w 0
5 il sl®
= E = 1:533 r N
2" 1{4 TAPER PER FT
4 ElarERrRn ST
s i 1=
o
390, &
A 631 5
& &
w2
g — = s
| A=
by ==
== || ==
o .
\ £ i
| L e
L z;
. 7
Ry ) NUT M3 UNISS67
® NUT 5/16x24 UNF ANSI B18 22
A 15Nm
_Zlé.;l'Mm UMIS588
8 = 37 (*) AVAILABLE ONLY FOR S20F-P
VIEW A
1) | REMOVABLE COVER FOR ACCESS TO MAIN TERMINALS
2) | SCREW FOR GROUNDING
3) | CENTER OF GRAVITY (C.0.g.) IN CONF. 520F AND FLANGE @146mm
4) | LIFTING EYE - AVAILABLE ONLY FOR TYPE F"
© Il ] @ }
29 \ va
- 7 i — N N
2 | |4 O, -
& \_' 38
© - — —
E ‘ SRS
S é = 15 ] L_
2.4 TAPER PER FT
2 N
= =8
T s e

{ E
L
N ==
N
W

[l
I
-
~ NUT M8 UNI5587
8§ NUT 5/16x24 UNF ANSI B18 2.2
A 15Nm
NUT M10 UNI5588
25Nm 37
VIEW A
1
2)
3)
4)

(*) AVAILABLE ONLY FOR S20F-P

REMOVABLE COVER FOR ACCESS TO MAIN TERMINALS

SCREW FOR GROUNDING

CENTER OF GRAVITY (C.o.g.) IN CONF. S20F
LIFTING EYE - AVAILABLE ONLY FOR TYPE "F"




OVERALL SIZE, STANDARD TYPE

dimensions in

FORM MD35 mm.
C.0.G.
153 30.2 e
i (
314
R i
0 - Vi
i g | |4
[=™3
i e —— x
o g
) g
L\
C
IL —
N L I (*) AVAILABLE ONLY FOR S20F-P
_ FLANGE N g TYPE A B C D |[coG
N. P R ! FS-130 227.2
Q ‘ D 285.5 | 295.5 | 429.6 | 275.0
6 | 2667 | 317 | 28575 Al T ro- 1 2193
4 A Soum : - U F-200 241.4
5 3143 ] 35 | 3334 - T rT— - 3255 | 335.5 | 469.6 | 3150
25Nm 81 6 (*)] F-230 254.1
SA DISC COUPLING VIEW A
N. 4 3 o TR 1) | REMOVABLE COVER FOR ACCESS TO MAIN TERMINALS
61/2| 21590 | 30,2 | 20000 | 6 | 60° 2) | SCREW FOR GROUNDING
: g : 3) | CENTER OF GRAVITY (C.0.g.) IN CONF. S20F MD35/5 F.6.5
71/2| 241,30 | 30,2 | 22225 | 8 | 45° 4) | LIFTING EYE - AVAILABLE ONLY FOR TYPE "F"
FORM B34
‘ 245 ‘
- - C.o.g. — ) 202 i
N 109
/\
Bl PSRN (2)
o T {
I ] ] Y
e 1 [
= é‘ \ i I
BiE | IO e
S a
B3 v o — =
o~ T T
& a (=]
o~ V4 m /
=14 i i /
1 T [
2 ‘ = FZm— !
— =
{A 180
c 3
L j_\‘—
A B C D |CoG. N
TYPE B
[mm] | [mm] | [mm] | [mm] | [mm] ¥
FS-130 199.7 :
285.5 | 295.5 | 385.6 | 275.0 ;
FS- 160 189.3 ’ b
Ny ! NUT M8 UNI5587
. F-200 325.5 | 335.5 | 425.6 | 315.0 210/ 8 A e GAAENEARSIBISES
( ) F-230 222.3 . NUT M10 UNI5588 .
25Nm 37
(*) AVAILABLE ONLY FOR S20F-P
VIEW A
1) | REMOVABLE COVER FOR ACCESS TO MAIN TERMINALS
2) | SCREW FOR GROUNDING
3) | CENTER OF GRAVITY (C.0.g.) IN CONF. S20F
4) | LIFTING EYE - AVAILABLE ONLY FOR TYPE "F"




	Pagina vuota

